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Add:
1. 1,370

+ 3,874

4. 2,706

+ 4,358

7. 87,564

+ 31,933

10. 40,978

+ 80,348

13. 29,346

+ 1,207

16. 92,307

+ 8,709

19. 57,436
+ 73,967

ADDING LARGE NUMBERS

2. 5,893

+ 6,998

5. 8,643

+ 2,971

8. 69,878
+ 26,406
11. 638,913

+ 16,109

14. 15,987
+ 3,893

17. 60,703
+ 1,759

20. 80,963

+ 76,397
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9.

12.

15.

18.

21.

6,908
+ 4,365

6,079
+ 5,816

37,073

+ 19,849

96,375

+ 14,638

89,857

+ 9,248

87,436

+ 7,844

67,293
+ 36,937



SUBTRACTING LARGE NUMBERS 3

Subtract:
1. 793 2. 869 3. 207
- 261 - 183 - 128
4. 389 5. 573 6. 700
- 296 - 298 - 365
7. 2,394 8. 8,547 9. 9,641
- 1,389 - 2.819 ~ 2,708
10. 9,786 T 8,193 12. 4,780
~- 3,894 ~ 2995 ~ 1,392
13. 8,963 14. 3,607 15. 4,879
~ 987 - 938 — 907
16. 38,753 17. 20,195 18. 93756
— 8,097 — 5,187 — 4,809
19. 53697 20. 43,976 21. 67,805

-~ 14,809 - 15,788 - 18,951

NO. A283R © COPYRIGHT, 1989, HAYES SCHOOL PUBLISHING CO., INC., WILKINSBURG, PA.



Subtraction with Zeros Name
Date

Estimate using front-end digits. Then find the difference.

1. 600 2. 800 3. 500 4. 400 5. 900
- 253 - 172 — 329 — 214 - 678
6. 200 7. 500 8. 300 8. $7.00 10. $6.00
— 84 — 314 — 158 - 2.98 - 434

——— e

11. 7000 12. 4000 13. 9000 14. 5000 15. 8000
— 6193 — 2864 — 5877 - 1891 - 4375

16. 1006 17. 3004 18. 2001 19. 6008 20. 8005
- 728 - 1949 — 1863 —~ 3855 — 4466

Find the missing minuend.

21. 22. D 23. 24, 25.

- 271 - 748 — 3642 - 4195 - 2037
319 466 4358 2805 5166

Align and subtract.
26. 8000 — 7638 = 27. $60.03 — $27.956 =

28. 2070 —-999= 29. $80.00 — $16.27 =
30. 7004 — 1928 = 31. $50.20 — $7.68 =

32. Shaya saved $50.00. She bought
a jacket that cost $27.39. Did
she have enough money left
to buy a skirt for $23.997

10 Use with Lesson 1-11, text pages 50-51. Copyright © William H. Sadiier, inc. All rights reserved.



@553’
4

D¢ 929716
- 3747-68

96532
— 43638

9,526,457
—_ 7[71675

@@Q@O*

__,35“253

M R&LV!‘EUJ
Gr—a,c’fk 4

R

O g%, 0?4?
/ﬁ""’/

& 4365152
~ 7y gMo. 91

@ 57,73

-_gz,@f’fa

() G 3% 76
“}L’/

. (+4) 50,000

— 1 ([, 8eL

@G 4,57
_ 57,892

SRALLE

@75574 3944
_ g’¢581453

(2 655,584
144, 877

{s) & 700. 00
— 92,13




Larger Sums and Name
Differences Date

or subtract from  {
& right to left. Regroup as
" necessary.

| Check subtin by adding.

Add or subtract. Watch for + or —. ,
1. 17,858 2. 69,766 3. $59796 4. 35429

"+10240 —-24873 — 4518 +16807
5. 72111 6. $41822 7. $276.05 8. 63240
- 8426 - 11955 + 13517 - 48517

9. 61,846 10. 38,511 11. $727.04 2. $91640
+40237 — 25735 + 16458 — 24168
13. 16281 i4. $1509595 15. $429.17 16. 32679
72724 3766 3.06 8412
+50416 + 50414 + 4182 +81,305

17. 62,004 18. 50,000 19. $700.00 20. $80046
—-35258 - 11,862 + 9218 - 2575

Align. Add or subtract.
21. 49,254 + 3,121 + 6,048 = 22. $400.00 — $253.61 =

23. $723.29 + $7.11 + $.84 = 24, 87,400 — 2,846 =

Use with Lesson 3-10, text pages 114-115. Copyright © Wililam H. Sadlier, Inc. All rights reserved. 31
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PRODUCTS OF TWO-DIGIT AND THREE-
Multiply:

1. 400
X 32

5. 304
x 12

9. 640
X 47

13. 354
X351

17. 642
x 29

2. 800
X 49

6. 706
x 23

10. 380
X 91

14. 497
x 36

18, 575
X 63

3. 300
x 98

7. 807
X 42

1. 760
x 38

15. 752
x 91

19. 894
X 46

NC. A283R © COPYRIGHT, 1989, HAYES SCHOOL PUBLISHING CO., INC., WILKINSBURG, PaA_

DIGIT NUMBERS 8

4. 500

12.

16.

20.

x 63

902
X 63

490
x78

567
X 89

937
X 96



Multiplication (3-digit by 2-digit) Nam

M
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Matply. e g4

i. 182 2. 225 a 31
x 5 4 X 33 x B

5. 268 6. 72 4 7. 385
x 36 x 17 x 90

g. 928 0. B4 7 1. 7 22
X 12 x 20 x 15

L 3 £

3. 88 2 i4. 237 1. 5 4 B
x 16 x.5 4 X 783

7. 199 18. 320 i9. 87 6
X 30 x 87 X 40

M. 637 22, 2865 23. 371
X 8 4 X 20 X 28

25, A box of raisins weighs 278 grams. How much do 24 boxes of
raisins weigh?

Answer:

26. A television set cosis $495. How much do 15 television sels
cost?

Answer:

Use after Book 4, page 215.
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Student Name: Score:

. Word Problems

Work Space

=T

Albert buys 6 LCD TVs. The cost of each
TV is $259. What is the cost of 6 LCD
TVs?

Answer =

A bolt manufacturing company packs
750 bolts in a carton, How many bolts
are there in 8 cartons?

Answer =

Kevin plans a field trip to New Jersey, He
rerts a room in a hotel at a cost of $219
per day. if he stays in the hotel for 1
week, how much does he need to pay?

Answer =

Jackson works as carpenter for a chair
manufacturing company. He earns $450
per week. How much does he earn in 4
weeks? '

Answer =
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Name

Date

- 165X 3 4 2= 497 TR

Divide and check.

1. 71782 2. 5)850
5. 6)4148 6. 2)1543

g, 5}41,585 10. 0)32,406

Solve,

13. Maggie has 1073 tulip bulbs. She
plants 5 bulbs in each pot. HOW
many flower pots does she need?
How many bulbs are left over?

3. 61672 4, 8)981

7. 4)2852 g, 901134

1. 8)E2z. 872 12 9)515,056 4

14. An automobile factory made 8500 cars.
The same number of cars was sent to
4 cities. How many cars were sent to

each city?

e
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Student Name:; Score;
e Word Problems
L Questions f Workspace

Antony ordered 7 pizzas. He paid $315. What
is the cost of each pizza?

Answer;

The maintenance charge collected from 8
houses is $120. What is the maintenance
charge per house?

Answer:

Sony digital company sends announ cements
to the employees by emaii, 6 Sony executives
sent emails to 324 emplayees, What is the
number of emails sent by each executive?

Answer:

A florist made 210 Bouguetsin 5 days, How
many Bouquets did the florist make in a day?

Answer:

P88 ek 43 e




Division (C)

24)1104

77)6776

24Y1896

Find each quotient.

91)4823

80)7280

31)2914

5791

79)4819

55)1265

20)680

32)1536

73)6497

Math-Drills.com




Division (B)

56)2968

18)702

52)3952

Find each quotient.

94)3854

21)1743

68)4964

84)8232

28)364

73)876

33)792

22)1672

28)588

Math-Drills.com




Division (A)

|

74Y5476

96)2112

|

83)5727

Find each quotient.

66)6270

43)4085

77Y770

78)6708

34)1870

53)848

98)8624

42)420

97)9603

Math-Drilis.com
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Adclmﬂ Fractions
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Subtracting Fractions:  name
Like Denominators Date

Subtract and check.

2 _ 1 _ 5_2 _ 3 _ 1 _ L _4 _
Leg-s=__ 23 s~ ___ 3 g-g=__ 4 i R
3 _1_ 11 _ 3 _ 1 8 _ g2 _ 4 _
5 32-z=___ 6 I i3 = 7. %5~ 395 = 8 10~ 785 =
Find the difference.
13_2 _ 24 _ B _ 7 1 _
9. 9-5=_ 0. F—95= N S-35=
12, a1 13. S 14, 4 15, a9 16. a1 17 5
12 21 5 50 16 10
- 5 - B -1 - Sl - - 3
12 27 5 30 16 10
18. 13 18. 5 20. 98 21. is5 22. 14 23, 15
18 3 10 o7 15 54
— & - 3 _ I - L _ 2 - 12
18 3 70 54 15 7
2. 3 25 8 26 8 27. 5 28 12 29 7
) T4 9 3 51 8
4 - 1 — & — 4 - .85 - 5
) T4 9 5 27 3
Solve.

30. A recipe calls fcr—%— cup of flour. Mike has-g- cup.
How much of the flour won't Mike need to use?

31. Edna has —‘g—yd of ribbon. She uses —}yd to wrap
a present. How much ribbon is left?

70 Use with Lesson 6-5, text pages 174 - 175. Copyright © Sadlier-Oxford



M‘t\H” Review_ éy—. ¢

Su\ljal'mc‘f' ‘PY‘Q_C,"I—; oNns W }\,LA
. Like behominaﬁrs

® a @ JL &

3

e ES %
-~ -5 L
e ES 4

7 QA ® 5
9 7 z
EY -5 -2
i 3 —T—
) s (2 s
e OF ¢
3 -] G
= o —
, q) 3
EY b 5
I G —
2




